Math 141, Spring 2012 NAME:
TEST 2, version A 100 pts
Chapters 3,4 &5 Do not use a calculator on this test! Seat:

Show all your work! Full credit is based on work siown!

9pts

1. Without actually dividing , use divisibility tests to determine if 85,93aigisible by each of the
following numbers.

a. Does 9 85,932?  Show tllevisibility test for 9:
b. Does T 85,932?  Show tlikvisibility test for 4:
c. Does 11| 85,932?  Showdivesibility test for 11:
5pts

2. Complete the following five digit number so thatsitdivisible by 6. Give all possible answers;\who
the divisibility test for 6.

53,43

13pts
3. a. Theprime factorization of 132 is . c. Draw a Venn taagto show how the
prime factors of 132 and 165 are related

b. Theprime factorization of 165 is
Show your factor trees here

d. The GCF (132, 165) =

e. The LCM (132, 165) =

6pts.

4. Show all your steps in the following additiomplem, using the LCM from problem 3e & simplify
your answer, if possible.

7 13
+
132 16¢

33
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3pts
5. Is 103 a prime number? Explain, usiegdéfinition of a prime number and divisibility tes

6pts
6. Rewrite each of the following with a single erpnt. Include your work to show the rules of
exponents that you used.

,
a. (7°0°)= e c6°423" =
6
3pts
7. Mentally determine which is largét* or 3%°? Justify your answer using the rules

of exponents.

3pts
8. Is the set of whole number multiples of three306, 9, 12, 15, 18, 21..} closedfor division?

Explain:

6pts
9. Name threeroperties for addition of whole numbers and give an example for each one.

6pts
10. lllustrate that 4 x 2 = 8, using the following
a.number line b.set model

R N S S A O S

0123456 7 8 910

6pts
11. lllustrate that & 5 = 3, using:
a.number line b.set model

0123456 7 8 910 33
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6pts
12. Fill in the blanks using the definition of dilon, writing each division equation as a
multiplication equation. (If there is no valid answer put “undefined’dashow why.)

a.357= because X = 35

b. 0+12 = because

c. -0 = because
2pts
13. Fill in the blank using theefinition of “less than”. 7 < 12 because
6pts

14. Write out the steps to show an easy wawyeatally calculateeach of the following:
Give the exact answer, not an estinaaig do not use standard paper and pencil methods.

a. 25x19-25x11 b. 557
+ 395
4pts
15. a. Estimate using compatible numbers. Estimate using the range method.

2625

3426+ 49 420

+ 3376
S5pts

16. Rosa wants to make a game board that is b@snay 24 inches for a game she has invented. She
will use square tiles. What are the dimensionthefargest tile Rosa can use?
[Answer this showing all your work & list yoproblem solving strategies.]

11pts
17. Do each of the following problemshase five arithmetic:

Show your work on this number line to illustrate hav to determine the necessary number facts.
Subtraction facts

I I I N I I N S ) N NG
>

01 2 3 4 10 11 12 18 20 21 22 23 24 30 31 32 33 34

multiples of 3

multiples of 4

a. Subtract ibase five: b. Multiply: 321 x 43 irbase five:
using lattice multiplication. 3 21
402
- 234 4




